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x“+4 X

2
=J‘ .t2+4_25 dx
x“+4 x+4‘_!
I
x“+4 :
_—.jdx-j 2
x“+4

5
- x—itan l(%}i-c:,\ng,

fem & y=xlog (a-:bx]

= y=ux[log x—log (a + bx)]
= y=uxlogx—xlog(a'+ bx)
D.w.r. to x

dy 1
—=xX—+logxxl
= dx X 8

1
= [xx (a+bx)x(0+b)+|og(a+bx))

dy X
— -_— -—l . -
T 1+log x @+b0) og (a+bx) ; Aps.
e 2 x=v1+£
dwrtot
- £= ! qx(0+2r)
dt 2\14r?
dv 1t
= dx ‘/l"l'tz e (1)
3l y=y1-1*
dwrtot
if-y-= L X(0-21
dt - 2\1-¢
&t
= da g - (i)
wlle (i) SR (i) @
-f‘-'zz—l. \ :
dx : Ans.
fer % ¢ y = (sin x)°F
Taking log both sides
= logy=cosx.logsinx
D.wr. tox

1 dy IXcosx . )
- ——=|COSXX— —sinx.logsinx | |
x dx sinx 0.



dy _
= dx

{coszv . . ]
y — —sin x logsin x

sinx
.'I .I

= % = (sin x)*™*(cot x.cos x —sin x.logsin x) ; Ans.

B Bt e
ToEA =) S 1+(14cosx) 14 2cos? >
2
o 3w,
2 X
cos” 2 '
2 ‘ M
sec {48}
_ dx=2 dzz
34tan? it
2
X
_itan" .t.aii +Xx:Ans
3 3ol
ef =1+t e*+1-2
. T 7 =I =I x
8 o +1 e’ +1

2dx
e*+

-

/2 nf2
g J' cos® x di = (3cosx:c053x)(h_
0 0

[*+ cos 3x = 4cos’x — 3cos x]

1=x—2 log(ef+1)+¢c

; Ans.

n/2 /2
=—%j cosxdx+l.J- cos3x dx
4Jo 4 Jo

=§_[sin x]{,”z +.l [M]“"z -_—-(g_._l_),:i:.z_
' 3

4 4L 3 L, \4 12) 12
nz i M2 1—cos2x
10, T 4| =jo smzxdxz_[o (—Z—de
x sin2x e T T
=== =—=0|=— (1)
2 4 |, 4 4

/2 n2 2
L, = '[ cos® x dx = (-]ﬂs—x}tr
0 0 2

. n/2

X sin2x T i
==+ sty

[2 4 ]0 4

e (i) 3R (i) |,

...(ii)

Mo, w2,
-[u sin xdx:J- cos“ xdx; Proved
\ 0

1. fm #: f=x>-4x+3
D.wr tox
B )
—o0 2 o
f)=2x-4
Sign scheme at f-(x)
f(x)"is Inc. In [2, o]
f(x) is dec. In [e<, 2]
oo f(x)isdec.atx=1

.iy..= =
12. dx a+x
-Xx
dy = =dx
= Y a+x
- (a+x)—a
b= [t o g [@iDe
= @ a+x =Y va+x

= y=- _[Ja+xdx+aj(a+x)'”2dx

= y= ?(a+:c)2 +2ava+x +c¢ Proved.

dy Xy . _ 1
B -2 T
ﬂ-’- = = l

d
this linear eqn in the form of I{ +Py=Q

equation (i) : y x IF= [(Q.IF) dx+C
z=1-x

F= [ _ [

I-x

=lei-r _ f1_

eqn. (1) 9,
—J1-x*dx+c

5 [ 1
.an-_-jm

yV1-x* =sin! x+C; Ans.

IX24+1x1+0x2
JI+1+0/4+1+4

dx+c¢

14. 3nire =T FHor = cosb =

a_ 2+1 1
= cosh == =cosf=""7 = cOSG:COSE
V23 2 4
9=%,Am.



15. A Y@ ?: \/I|12+mlm2+n,rgz=0
x=11_y-1_2z-17
-p  2/3 =5
x=22 y-=7/2 2-100
3p ~ 2Ip  6/5
2

3p2+ 2122, 080 50
2 '35

3p? -9 +6=0
p2—3p+2=0
p2—2p-—p+2=0
P-2)(p-1)=0
Soop=2, 1;Ans.
16. f&a 2 -

-7 6 8

1(=24+30) - j(16—-35)+k(12-21)
6i +197 —9k; Ans.

]

1
17. p (ahead) = —; p (not a head) =

L
2

3
1
p (exactly 2 head) = 3¢, (EJ ;Ans..

18, €(0,3)
A (0,0 B (8,0)
Comerpoint | Z=5x+6y
A(0,0) 0
B (F, 0) 40
C(,8) 48

Z has maximum value 48 at C (0, 8); Ans.

19. Let A be the Area of the circle of radius 7 then A = g2

e =[5
= 'd—=21U’ = |

r dr r=6cm

20. (<21 +3] —4k).(37 =6 +6k)x(7 3] +2K)

-~
~.
1

—6] +6kxi 3] +2k =

1 -3 2

= (2% 6) cm?/cm ;Ans.

21.

24,

o
n

=i(-12+18) - j(6-6)+k(-9+6)
=67 -3F '
= (=27 +3] —4k).(67 —3k)

= - 12+ 12=0;Ans.

f(x) =82 T g (x) =x1

©gof=g(f(x)  fog=f(g (x)
= g (8x) =f('?)
= 8 = g(x1B)3
=(2%. 18 fog = 8x, Ans.
= (@9°}'"?
gof = 2x, Ans.

P(E)=06,P(F)=03, P(ENF)=02
P(ENF)_02_2

FOP ER="pF ~03 3
B P(ENF) 02 _1
(i) P (F/E)="pEy P(E), 06 3.4
- n(s) =36
= {(6, 3), (6, 5), (4, f{), (5, 4). (6, 5), (5, 6))
Py 2=l
B =365
I= r“logxdxt_logx, dt—ldx
% x=0; t=0

I x=2; t=log2

j"’sz\/‘d‘. [ 312]:52 =§(log2)3"2

- (x+3y-5)de+ (3x-2y-1)dy=0

2xdx +3ydx—5dx—3xdy —2ydy —dy =0

3 (vdx + xdy) - -S5dx-2ydy-dy=0
3d (xy) = 2xdx — 5dx - 2 ydy — dy = 0
Integrating both sides

3_[ d(,t_v)~2j xdx—SJ d.r-zj ydy—j dy=C

3xy —x2—5x _),2 -y= C;’Ans.

- JMA=(1,-1,3)

B=(2,4,5) - A

T AB = [(x,-x) + (3 - y) 2+ (2, 7,)°

= J2-12+ (4= +(5-3)
= J1+9+4

= Ji4
. AB &1 feg-#and,

N=% Y= Zz Zl 1 3

=AB'A N VRN YN 7

Ji4

4



27. 9 1= I sinJxdx

HAT Jx =2
D.w.r to x
—dx—-
= 2\/—
= dr=2Jxdz
I = J sinzx2J;dz=2J' zsinzdz
= Z[ZI sinzdz-j (EJ sinzdszz]
dz
- 2[3—cb§é+fcoszdz:|
= —2zcosz+2sinz+c
= —2/x cosv/x +2sinx +¢.; AVS.
2. 9| ] = Jsin3xdx

- J‘3sinx—sin£dx

= -l—[-Bcosx-—

4 +C

—cos 3x:|
3

% cos x + Hcos3x+ C, Ans.

a3 1243 .45

29. LHS. = sin~'=—cos — =sin""' —-sin
5 13 5

s 3--2-)

|

(3 12 5 4 . 116
= sin”'| = X——=—X— |=sin""| —
513 13 5 65
= R.H.S. Proved
4 9 7
5 7 37 35
3. |35 7 =4| j_gl ‘+7' ’
545 4 5 5 5 5 4
4[25-28]-9[15-351+7[12-25]

=-12+180-91=180-103 =77 Ans.

log x
3. J’ £z
t=10gx=:»x=et
1
dt = —dx
X
Ifx=1,t=0

log2 _t
1.‘r=2_t=1(_')g2=‘|‘0 te 'dt

log 2

- tj e'dt— I (%J' e"’erd:]

r . _;og2
=|—te” —¢ 'J
0

0

= [(tog2e2 +¢'"°‘2)-(o+v]

I L1011
| =log2+=-1|=1-Liog2
[2 ) ] 2 2%

%(l—logZ) : Ans.

a-b-c 2a 2a
32. LetA=! 26  b-c-a 2
‘ 2¢ 2c c—a-b

Ri=> R +R,+R,

1 1 1
=(a+b+c)|2b b-c-a 2b
2c 2c c—a—-b
C,—=C&C,-
0 0 0
=(a+b+c)lb+c+a —-c—a-b 2b
0 c+a+b c—-a-b
0 0 1
=(a+b+c)’|ll -1 2
0 1 c—a-=b
=(a+b+c); Ans.
3. A=tan! 2
B=tan™! 3
tan!'2+tan'3+C=1
5
-l —+C=n
tan T—¢
C = 180° - 135° = 45°;, Ans.
) . siny
34-smy=xsm(a+y)—>x=m

dwrtox

dy dy | .
— =xcos(a+y).—+sin(a+y
cosy - (a+y) e (a+y)



w
wn

dy _ sin(a + y)
dx cosy—xcos(a+y)
sin(a+y)

= sin y

COS Yy —— ) cos(a+y)

sin(a+y)
.2
sin“(a+y)

cos y.sin(a+ y)—sin ycos(a+ y)

dy _

d'l.

sinz(a +y) _ sinz(a +y)
sinf@+y-—y)

- ; Ans.
sina

. e m sfiadie g

Z=3x+Ty
qul G0, x+2y<16 o (i)
G| x20,y=20 ... (i1)

T4 Yed eF Simist & Frema g frifa e Tt € 1

&

2 =
X4 . === {0}
— ; . S
2 4 6 8 10 12 14 16
}Jl
frm (i) =1 9T e o1 W
x+2y=16
x|0]16
y{8]0

e ()H x=0TMy =0T WO0+0< 16 = 0<16
T ¢

3A: @ F DEfed 8% T 87 © |

. 3@ ¥H WAF corner point W z F HF 4 F © |

FIG fag | z=3x+ Ty

(0, 0) z=3x0+7x0=0

(16, 0) z2=3x16+7x0=48
(0, 8) z=3x0+7x8=56

Id: ¢ %1 Weww WA fa=g (0, 8) W 56 & Ans.

36. (1 +y2) +(x —e'“"'-I ¥) ﬂ =0
dx

ﬂ__ l+y2
dx = gy
‘i.x x_e—ian'y
or 'E;_ l+y2 Ve ‘
PPARY
dc  x P
—t—== 3 5
dy 14y° 14y =%
1
LF= e’@‘? _ Ve
-1 a1 e--un'-ly
xxe™" "’=J- &MY x s—dy+c
I+y

-] - .
= xe™ Y =tan ™V 4o AN

37. F=i+2j-4j+M27 +3] +6k)

F =31 +3j=5] +p(2i +3] +6k) same cross product

zero distance not possible

(@, =a). (b xb,)
Wfa:[ 1y xb, |
ik
byxb,=|2 3 6
2 3 6
38. S = (HH, HT, TH, TT}
y = no. of heads
X 0 1 2
S T P
8 T B
X=2Xpixj
1 1 1 1 1
= —X0+=XI+—-X2 = 0+—+=-=1-: .
2 2 2 ()+2+2 1; Ans

Qaa



